ST-P026 ST-20 Ball Head V2.0 20220510

PN
A A 4
SIRUI

HGHD BHEET

{5 FH 15 BA

ST-20 (RELE=S

I RESAZRBERRA

ik CHREARUTRBELUE=TWR #E 45 : 528458
F3E: 0760-88897373 f£EL: 0760-88207062 FR&#4: 400 830 2299
BR#E: info@sirui-photo.com P4k www.sirui.com
1RIFERIE 1 18165639388

({WPRI/ER 8:15~12:15,14:00~18:00)

REOLZESH
a max
© &t @ a
BE BE BSEE RAGE
mm mm kg kg
40 90 0.55 35

E1IANR=Ee

UNC 1/4"-2048#4842

TREHR R
HREHREH

360°JEEE BRASUEICIZVETS ¢

B2 zeSHRLEREE

SB— IR EEHEENEE
EIE7KFIERRE

UNC 3/8"-16827|,

SR BTSRRI TERRE

UNC 3/8"-16424F

$R=  FEaaH A aEEEmE

B3 =arEth FR IR B4 RERINRE

AlEER

s\ iR
(; (1EF : SHEHRERR )

TR R FIBIRER IR
EAEICIZIRE

AIEHER
FERERAFF

360°FE FA  BUEEKIR )

: Eﬁﬁ%‘ﬁ;%
EEREIATF
(VER SRS )

PRa: EHEFTRIR (R FIRETIRGSEETIER | LRIERIRR )
p L ME NP

TR Al REREREER S E R E

. B1INRBE

. B2 SRR

1. =EREERIZFAMEAUNC 3/8"-16 NREH=HZE -2
UNC 1/4"-20i% 28822 | BPABHEEME—FIUNC 3/8"-16/34%
igee,

2IEFR , IBEAESBAIUNC 3/8"-16FFFLIT HERIZE FAJUNC
3/8"-16424T , REIRRTEH e = B REEFERIE L,

. B3 =ERbERIFRR IR

WE3FR

. B4 RERIRAORE

WNEARTR

. EEEm

1 LRERHIREN | BRFRNRE , URINLSE.
2TEEREN , cENANBEEGELRENIIENN. RS
TRS%EW , FUETERFRE  BAEERE , LIBITiR
BIERAE,




Specs for the ST-20

P N
A 4

SIRUI

SIRUI, Capturing Your Imagination!

INSTRUCTIONS

ST-20 Low Gravity Center Ball Head

GUANGDONG SIRUIOPTICAL CO.,LTD.
Add: The Third Industrial District, Wuguishan Town, Zhongshan City,
Guangdong, China (Zip Code: 528458)
Tel: 86-760-88897373 Fax: 86-760-88207062
E-mail: info@sirui-photo.com Website: www.sirui.com

i max

Weight Maximum Load
kg/Ibs kg/Ibs

0.55/1.21 35/77.16

1.Know the Ball Head

1/4"-20 Mounting Screw

Bubble Level

360° Panning —
Locking Knob

360° Pannin

2.Ball Head Installation

base

a. Turn the base locking knob  C. Twist left the ball head to fix it on the tripod
clockwise to tighten the panning s

3/8"-16 Screw Hole

b. Align the screw hole on the ball head
with the mounting screw on the tripod
3/8"-16 Mounting Screw

3.Description of Knobs

Panning Locking Knob
Secure: Turn clockwise
Unlock: Turn counterclockwise

Ball Locking Knob
Secure: Turn clockwise

360° Panning Base

360° Base Locking Knob
Secure: Turn clockwise
Unlock: Turn counterclockwise

QR Plate Locking Knob
Secure: Turn clockwise
Unlock: Turn counterclockwise

Friction control knob allows fo
easy friction adjustment of the
Il

Unlock: Turn counterclockwise

4.Quick Release Plate Installation

a. Fully loosen the locking knob (Stop twisting the knob when it hits the end)

b. Push the plate onto the base
c. Twist the locking knob clockwise

1. Know the Head

2. Ball Head Installation

a. At the bottom of the ball head is a 3/8"-16 screw hole,
so a 3/8"-16 screw is required for attaching the head
onto the tripod.

b. Align the 3/8"-16 screw hole at the bottom of the ball
head with the 3/8"-16 mounting screw on the tripod.
When aligned, hold and turn the ball head clockwise
to fix it onto the tripod.

3. Description of Knobs
As shown in Fig.3.

4. Quick Release Plate Installation
As shown in Fig.4.

5. Notes

a. Please hold the camera gear with your hands when
mounting it to the ball head.

b. The vertical angle of view of the ball head will vary
due to the length, size and position of the lens and
camera. So please make sure the camera gear is
mounted properly.




